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Do not open this booklet until asked to do so...

RATIONALIST TALENT
SEARCH EXAM 2014
(RTSE)

STD : V

Date of Examination : 30 March 2014 R 11 N
Time : 2.00 pm to 4.30 pm 0 0.

Guidelines for the candidate

1. ufeT & ivargal fammeatr Syul Jifedt sRuaraat 30 i 31k e Juam aget.
You will get additional thirty minutes to fill up information about yourself on the Answer Sheet, before the
start of the exam.

2. e RAYETRHE THOT 150 R 3T Teh TR 2 T[0T 3R

This question booklet contains 150 questions each question carries 2 marks.

3. T Y WISTaut Savah 3T%. JehIeA STRIEE Ml UM F3eaTal FehRe! U SISl shet STTOTR TTét.

All questions are compulsory. There is no negative marking.
4. 3MIEATE ST YRR [HeTeaTe W e HATal.

Check to make sure that you have received the appropriate test booklet for your standard.
5. ITRYFCRaR STIet AT, GRET ShHih, T2 ST a7 Jg Tehi Tofg = TR TeiRt s,

Write your name, roll number, group and class clearly on the Answer Sheet and do not forgot to sign it.
6. AL Hos THd IR SR M. SR SIS Uehel T I

There is only one correct answer. Choose only one option for an answer.
7. ITE WA SAUAIE! s el e T Sierde areRTaT.

To mark your choice of answers by darkening the circles in the Answer Sheet, use a blue/black ball point

pen only. Eg.

Q. x :- Fill in the blanks.

My father went to buy some milk.

A. There B. their C. They're D. here

As the correct answer is option A, you must darken the circle corresponding  Q.X . @ @
to option A in the Answer Sheet

8.  Tiel HuoaTaR THE STRUTh THaeTehiehs TR .

Return the Answer Sheet to the invigilator at the end of the exam.

9. ST TRET SHHiH TAYRTRER YT foTaTa o Ha¥ FTRaqen! TefT ShIcerHaY STaedT |ie =

Write your Roll No. on the Question Paper too and take it home for future reference.




GBI R Ceas it Reicohei = r-u N 2.
a) femaR b) et C) Tgh d) foamed

Leonardo-da-Vinci was a famous

a) Painter b) Poet c) Writer d) Philosopher
29 1450 7 .............. AT ST AT

a) gasarear b) zuE C) AT T d) ForeR

In 1450 A.D. machine was invented.

a) Spinning yarn b) Printing c) Steam Engine  d) Computer

QTATe Uehl ST AT Je vl ?
a) TRl T b) IR T c) g T d) Fiest I
Which of the following dance is from the state of Assam?

a) Garba Dance b) Ghumar Dance c¢) Bihu Dance d) Koli Dance

LR ShIATd SRATT Tt 1ehoT BT SAeeR STHUTR et hior?
a) 9. 985 b) . IETERY e

C) H. T d) FeeTTeTE uee

Who was the person responsible for the merging of princely states in the post

independence era?

a) Pt. Nehru b) Dr. B.R. Ambedkar

¢) Mahatma Gandhi d) Vallabhbhai Patel

'Srea et ST < WeTIeh Hiur?

a) TSTeR! b) o T c) Hie- & d) e T @A
Who is the founder of 'Indian National Army'?

a) Rasbihari Bose b) Subhashchandra Bose

¢) Mohansing d) Captain Lakshmi Swaminathan
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10.

"TATHIRY 2T Gkt oliaeh ShiuT?

a) TETeHT SRS Fel b) SFUAT I TR

C) . SRS SeSeh d) <. ISR e

Who wrote the book 'Gulamgiri'?

a) Mahatma Jyotirao Fule b) Chatrapati Shahu Mahara
c¢) Dr. Babasaheb Ambedkar d) Dr. Punjabrao Deshmukh

ZRITTATET SATIT=A1-! RATHS STTOTRT SHIvTdT TR ITEreAr?
a) g A b) gamE T ¢) Tt AT d) s =
Which route to India was discovered by the Europoean traders?

a) Sea Route b) Air Route c¢) Rail Route d) Land Route

TICITIIST WA SRERI-S-TTTHT ShivTedT TTet! STRATT TErere?
a) 3.9. 1498 b)zw. 1510 c)3.g. 1600 d) z.w. 1757
In which year did the Portuguese sailor reach India?

a) 1498 A.D. b) 1510 A.D. ¢) 1600 A.D. d) 1757 A.D.

AT T Ts hagl STett?

a)s.4. 1764 b)zw. 1510 c)gg. 1757 d) z.4. 1498
In which year did the battle of Plassey take place?

a) 1764 A.D. b) 1510 A.D. c) 1757 A.D. d) 1498 A.D.

TR TOTeT0T Herii= o Hithd 3T 3791 HETUT RhREhe Shivlt hott?

a) TETeHT SRS Fel b) SFAT IE TR

¢) FHHAR ST Tl d) aTes TMeR feeseh

Who put forth the demand to the government that primary education should be free
and compulsory?

a) Mahatma Jyotirao Phule b) Chatrapati Shahu Mahara]

c) Karmaveer Bhaurao Patil d) Bal Gangadhar Tilak
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11.

12.

13.

14.

15.

T G Uleet 3THae i TRet?
a) TR b) Herg c) feeett d) R

Where was the first session of the National Conference held?

a) Nagpur b) Mumbai c¢) Delhi d) Kanpur

STTTCT el W1 UT ShivT Shed?

a) oiis FgH b) <. 3t sgie C) S SRR d) &g FreHTS

Who devided Bengal State?

a) Lord Curzon b) Dr. Anny Bezant c) General Dyer ~ d) Ramse Macdonald

AR 48 Retedr 1929 =1 UEig e AREHTe 3egel il 8’

a) Bi. RS ST b) HereAT e

¢) FATST GHTSES S d) ST e

Who was the president of National Conference in 1929 for the session held at
Lahore?

a) Dr. Babasaheb Ambedkar b) Mahatma Gandhi

c¢) Netaji Subhashchandra Bose d) Jawaharlal Nehru

USTTE Hefiel TYed shotl 399 THAT TV v HER Ui 31e?
a) gd TR b) fectarer UER ¢) Al TR d) HemRTel HER
Which temple in Pujab is well known as a fine example of architecture?

a) Sun Temple b) Dilwada Temple c) Golden Temple d) Mahakali Temple

STHRER ST W SHIUTT S 21T g, STUTA e TR Shotl?
2) b) st ¢) Frote d) s
Against which country did America first use Atom bomb?

a) China b) Germany c) England d) Japan
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16.

17.

18.

19.

20.

SRR Ulget T2TeeT Hio?

a) STret afyre b) AT ST C) T8 d) e
Who was the first president of America?

a) George Washington b) Thomas Jefferson

c¢) Lui France d) Montesquieu

* O QO (e} (e (e} f'\:)
T9Tel STt odld Gledletden] enlUl enedl!

a) TETeHT SATARTE Fed b) i STeTERY S

¢) I&THTE ARISH d) =rirent et

Who among the below initiated the celebration of Shiv Jayanti

a) Mahatma Jyotirao Phule b) Dr. Babasaheb Ambedkar
c) Dadabhai Naoroji d) None of these

'TEIOT T U ol ferteer?

a) AU IME FERTS b) TETHT AR Fed

¢) Ei. TETHRE JTESH d) S FST HeRS

Who wrote 'Bhuddhabhushan'?

a) Chatrapati Shahumaharaj b) Mahatma Jyotiba Fule

c¢) Dr. Babasaheb Ambedkar d) Chatrapati Shimbhaji Mahara]
AET Sl ST ST e T JUTT SEE SaeTaTd UG 3T ?

a) TeTeaTeRdiea b) wrfecar=n C) GGhdr=AT d) shrrET=
Romans are famous for their gift of ______ to the world.

a) Sculptures b) Literature c¢) Culture d) Law

"GHSTETE T ISR SO TS ShivT sholl?
a) 4. g% b) et AT ¢) S fHeer d) e ofiem
Who first used the term 'Socialism'?

a) Pt. Nehru b) Karl Marx c) John Miller d) Robert Owen
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22.

23.

24.

25.

............ JAT ST0T a0 TV 3TesEl.

a) e g4t b) . SIgA FAH  ¢) ST T d) Tt ST
We are familiar with as a human computer.

a) Shakuntala Devi b) Dr. Abdul Kalam

c) Rajeev Gandhi d) Swami Ranganathan

AT T STe Ug ShivTar?
a) H b) gy c) I d) vt
Which planet is the fastest in the entire solar system?

a) Mars b) Mercury c) Venus d) Saturn

HYHE &1 [aehR IRRTATCT ShivTe STeare faremes giar?

a) = b) s c) weiter d) wmfre

Dibabetes is caused due to malfunctioning of which organ in the body?

a) Liver b) Kidney c) Spleen d) Pancreas
3Tt XTSI TUITATS! e HERUTA: ..o TR SHICATEE! AT

a) 20 ek b) 1 220 9ds  ¢) | e 129 d) 52 9
On an average, it takes about to sing our National Anthum.

a) 20 seconds b) 1 minute 20 seconds

c) 1 minute 12 seconds d) 52 seconds

ST To5 AT "Hed ST Bic AT Fellel STRGR HHA HioT et ?

a) HorT o b) ferrett o) Wigeamsig d) .9, TEEE
Who strongly favoured the idea that the Aryans originally inhibited Central Asia?
a) Max Muller b) Kibuli

c¢) Sir William Johns d) G.S. Sardesai
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26.

27.

28.

29.

30.

31.

QTATCTIeh! ShIVTT TTe TR @St Riad el?
a) TR b) TretyrsTn ¢) TSR d) 3w

Which among the below-mentioned does not provide minerals to our body?

a) Sugar b) Leafy Vegetables  ¢) Carrots d) Milk
............. € IR 1ok AT qated Ug 4.
a) Thoe Oeier b) SR c) TSR d) TR SR
is the highest rank in the Indian Neavy.
a) Field Marshal b) General c) Admiral d) Admiral General
RS 1okl 131 G ol AR THF IR
a) e b) T C) FAITMR d) AT
Right to property is the right.
a) Fundamental b) General c) Legal d) Moral

TERTIAICT TaTeeh (e &5 STFeier [Seal shiorar?
a) qot b) |t C) STEHTTR d) TRTerr
Which district in Maharashtra has largest area under irrigation?

a) Pune b) Sangli c) Ahmadnagar d) Amravati

STt et STUTTER]T Fehed hiuTar?

a) AR b) et ) TR d)
Which is the first Nuclear Plant of India?

a) Tarapur b) Eldari c) Jaitapur d) Madhi

TERTSIIATS alld olid & W& &I hiordt?
2) T b) et ¢) i d) s
Which is the largest main river of Maharashtra?

a) Narmada b) Godavari c) Tapi d) Bheema
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32.

33.

34.

35.

36.

37.

EAHATAT Gfte HERTLTAeT Falld Hial FeeT SHioTdr?
a) TS b) ATTR C) U d) et
Which district is largest in Maharashtra on the basis of area?

a) Aurangabad b) Nagpur c) Ahmednagar d) Nasik

TETATTIRT wevveneenne 7 TSHTOT SToAtear=a g TR
e

a) BRI b) ARIR ¢) TR d) T
Hydroelectric Power station is at
a) Koradi b) Tarapur c) Eldari d) Ratnagiri
e TSTe—ITatet oo, T ST Uleet Uelt STHIR0Y 2.
a) HTeAT b) FTest C) 3FTesT d) =

in Raigadh district is the first bird sanctuary in Maharashtra state.
a) Karnala b) Narnala c) Arnala d) Ghana
'Tael' o 'fargetedl g 9 gadl {80 e 7 Yaarer 3.
a) TRIaT b) Rt ¢) TTageT d) ferzr
Hill stations 'Pachmarhi' and 'Chikaldara' are situated in the mountain.
a) Sahyadri b) Arwali c) Satpura d) Vindhya
TRATAA FalTd il AR O oo, AY TR,
a) e b) FTE C) ShicTehTal d) 9=

The biggest Telegraph office in India is at
a) Mumbai b) Banglur c¢) Kolkata d) Chennai

ST T o foremmdia whid 3Te?

a) qag b) feeett C) ShicTehTa d) seTEETE
Indira Gandhi Open University is located at

a) Mumbai b) Delhi c) Kolkata d) Alahabad
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38.

39.

40.

41.

42.

43.

"GATA Tehed' ShIvTc "IC?lOI{ SHRYLA SHlel 3:”%-?

a) FreTy b) Herert ¢) ferma d) fay
'Salal Project' 1s situated on river.
a) Zelam b) Satlaj c¢) Chinab d) Sindhu

TRIS! WTiecd FFHeHTS dfeet Jiotd 3Tede] ShivT?
a) RS /A b) 7UUMTS: TS C) TIRHUT d) =1 g
Who was first Dalit president of the Marathi Sahitya Sammelan?

a) Shankarrao Kharat b) Annabhau Sathe

c) Laxman Mane d) Daya Pawar

TERTSE. STEATAT U Tl ST SIIsHHT v e SUAT 3Tet 3T1e?

a) FVEAS TR b) Tl SISl TeRST ¢) T TeSHara d) 7ex 25

Whose name has been given to the Gram Swachhata Abhiyan initiated by
Government of Maharashtra?

a) Yashwantrao Chavan b) Sant Tukdoji Mahara;]

c¢) Sant Gadgebaba d) Mother Teresa

GTeitoT TR TROATEE! Iy 9Tes THere.

AUl enldl ehld] .ovvennennnnnnnn. A STl

a) & b) it c) = d)q

(e} (e o 0
gletletdenl Ay Aenlel’l Rlsx JHlcodl.

a) BT b) femoft c) d) e

o (2} o
ReplHT ST QT RIS (el

T JTUTAT HIIGHATT Ucaieh o T ..o KIEKH

a) Ie b) 3t c) e d) feram




44.

45.

46.

47.

48.

49.

50.

51.

............. TS TR 3TRId.

a) geit b) 3oy c)q

T STesTe FHTTE e 3Tes .
i =
a) @ b) e c) e

STt T T Y 916 HIOTAT?
a) T b) amoft ¢) T

QTATTIeh! T5 IR 3T,

a) =T b) RO ¢)

TEIel TEUT QU SHUATAIE! A1 v e :

GTeitoT ATl ST 3T 3Tl

qCISHTCAT STTUATET 314K 3:|'|% 3MfUT USIEAT STEot 3T el 3:|'|%

a) 3R b) s c) afoT

"TTSeTae’ 3T YEETITA &I 3Tt fehclt 37T 9165 TR Bicier?

a) 33 b) @@ ¢) Ut

Fill in the blanks with suitable collective noun.

We saw a of sheep on our way home.

a) Fleet b) Flight c) Flock

d) =t

d) it

d) Tt

d) @&

d) e

d) @@

d) Colony
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52.

53.

54.

55.

56.

57.

Choose the correct indefinite pronoun from the alternatives.

If wants that last piece of cake, I'll have it.

a) someone b) anyone C) no one

Choose correct adjective from the options.
I don't like pop music. I hate it all.

a) little b) less C) some

Fill in the blank with suitable article.
For lunch I had sandwich.

a) an b) the c)a

Choose the correct adverb from the options given below.
Shivani is happy. She smiles .
a) happier b) happiest c) happily

Fill in the blanks with correct prepositions. Choosing from the options given below.

Who is the person this picture.

a) across b) via c) on

Choose the best answer from the options given below.
I'm afraid I won't be able to come to office tomorrow.

a) your boss will be pleased with you.

b) Oh well, Never mind. We'll see you the day after tomorrow.

c) still we'll wait for you there.

d) all of these.

d) anybody

d) any

d) none of these

d) happy

d) in
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58.

59.

60.

6l.

62.

Out of four choices choose the one which can be substituted for the given sentences.
One who makes maps and charts :

a) Geologist b) Geographer c) Cartographer d) Politician

Choose the correct past passive verb from the options given below.
The grass yesterday. It looks lovely.

a) was cutting b) were cutting c) was cut d) were cut

Fill in the blanks with suitable verb from the options given below.
[ am French since I lived in Paris 15 years ago.

a) riding b) speaking c) taking d) telling

TOT Jerel Wk JATERUIT IR 1ot JiedTd.
i) smTEne ii) U= iii) mER 1v) TaEER
a)i, 11 & 1v b)i&ii c)1&iii d) 111 & v

Animal return water to the environment by
1) perspiring i1) drinking 111) urinating 1v) breathing
a) 1, 11l & 1v b)i&ii c)1& it d) i1 & 1v

(e} (e (e} 2 a > 0 ‘7
ldletHenl enlVlc] Hcialet ATVSIAT YISl enUll (‘;I‘%OIQIIQ) Al

a) Mg, 94, The| b) e, 9, el

¢) TeTgHHl, HTT, Mg d) =rer, 919, ATl
Which one of these groups contains only animals with a backbone(vertebrates)?

a) Earthworm, Snake, Crayfish b) Crayfish, Snake, Horse

¢) Roundworm, Fish, Earthworm d) Horse, Snake, Fish
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63. ToA fordt TersTeh ST STervaehal 3194 ?
a) 123w b) 8.5 3 ¢) 16 3% d) 11 3%
What is the minimum required Hemoglobin?

a) 12 gm/dl b) 8.5 gm/dl ¢) 16 gm/dl d) 11 gm/dl

64. ARG FHhod IS OISt !

aNO o o .
a) STTHSII 0T b) STSTETUT =0T
C) STcAshiea W (a0 d) IRt e

Scientifically, what do you mean by family planning?

a) Control of child labour b) Control of child education

c) Controlling the number of children ~ d) None of these

65. Sifaek argd Wretter A fsoT 7 ?
a) RIS, FEFSIATALS J eI b) AFISH, e 7 SfifaasH
¢) fHeH, FEFSEITAES F FTISeH d) ardent @l

Biogas is a mixture of following gases -

a) Oxygen, Carbon dioxide & Hydrogen
b) Nitrogen, Methane & Oxygen

c) Methane, Carbon dioxide & Hydrogen
d) None of these

66. WeiloTueh! IR ShIvTaT T Felld i 3TEdi?
a) OIS TS b) B¢ e c) IS 8T8 d) TrEa
Which of the following body part is the longest?

a) Large intestine ~ b) Small intestine  ¢) Femur bone d) Lungs
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67.

68.

69.

i feem freret -

a) TSI o AT THISATIRE 0T TG TeHIICT &4l

b) 7 RTsTercaT s TRTATE YIS ehal HHT Bl

¢) feehg SaciedT UgTad ATsa YaT e 37k TrsuTdT 3T

d) ST T YA T Sc5ehe THUATATR! TRE TRST 3T,

Select the correct statement -

a) Roughage present in vegetables and fruits must be discarded
b) Over cooking decreases nutritive value of food.

c) Preserved food has more nutritive value than fresh food.

d) Growing children need more fats to built strong muscles.

ETeTIeTUehl ShIUTT Tk SSUTAT STTTUT ST JelTeld sheUaTeAT &Hdd Ia< HEehiaaT al?
a) et b) =it WIGIE] d) e
Which element is least like the other in its ability to conduct heat and electricity?

a) Nickel b) Silver c) Copper d) Carbon

Radio converts -

a) Mechanical energy into Electrical energy
b) Solar energy into Electrical energy

c) Electrical energy into Sound energy

d) Geothermal energy into Heat energy

IrS3T ST Shalld -

e x o x
a) dllAen Svic 2RVT [Agld Sid

b) TR I 0T Sl

C) 0T ST & ol

d) ST ol ST
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70.

71.

72.

73.

QTATCTIR! 31T foTe STie.
a) ST ] T TRRIT STeesard. b) Hifcieh 7RG THRRGH SH-a1HE Feed STl
C) TGS} M A SRl Ted. d) 9% Trume ST 3.

Identify the incorrect statement from the following.

a) Matter exists in three forms. b) Matter can be changed from one form to another.

¢) A few substance is formed in a chemical change. d) Ice is heavier than water.

T {oheetiell Je TR FHIUATHTR! ATNTUTR HaaH Hifecs hivrd?
a) TgHTEH b) wrpE c) = d) e
Which would be the best material to use, file making the handle of Tea Kettle?

a) Aluminum b) Wood c) Glass d) Iron

THARE wverrenene. TG v, TR STTUATEIS! SR ST

a) Johgd URTH®S  b) UTHTed A% ¢) IS srefuiehs  d) Iheuithed Itiehe

All stars appear to move from -

a) East to West b) West to East c) North to South  d) South to North

GTeAToTUehl 3T {ore HioTd?

1) STTRTINAT & TShThR SR dNeRTHES 3T1R.

i1) YEhAT=ATeT 63 =% STRd.

iii) 3T & GIIT e TieT STHATT ST FATHIe TETeToT HTetdT.

iv) gede weh WISEoT 365 1/4 fKadid qol &id. &1 SYoT HIeATaey U GR a9 378 T
a)i&iv b) i1 & 111 c)i&ii d) i1 & 1v

Which of the following statements are correct?
1) Milkey Way is a spiral shaped galaxy.
i1) Planet Venus has 63 moons.

ii1) Satellites are small heavenly bodies that revolve around the sun.

iv) One revolution of earth is completed in about 365 1/4 days. This time period is

called a solar year.
a)i&iv b) ii & iii c)i&ii d) iii & iv
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74.

75.

76.

77.

R IS THA T, T AEUR AR, ST TR ..o 3.
a) b) afersor C) §hTeS d) = a7for = gt
If there is no rain, crops fail to grow. The condition we lead to -

a) Flood b) Drought c) Famine d) both b and ¢

QST 0Tl HI8e[0T ToUTS -
a) TafEidrer 9Tufl 5 STaRaT SIHEEeA 9ror ST

b) U7t STEETIETE! TR Se i)

C) =TT J TeoATehe UTUTEAT aTg S0

d) uTerT UToTt STt ST AisATe et STRTHTS! WISeUTe U,
Rainwater harvesting is -

a) Storing groundwater by not using water from the well.
b) To stop growing crops to save water.

c) Allowing water to go into rivers and lakes.

d) Collecting rainwater and storing it for later use.

a) oo b) vrerit ¢) TETAH d) am

Gamma rays are devoid of

a) Weight b) Energy c) Mass d) Speed

FAT W o BRI ICICECIFIE GRS )
a) A= b) &= ¢) e d) Sitste
Artificial silk is known by the name

a) Nylon b) Rayon c) Terylene d) Georgette
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78.

79.

80.

81.

82.

et U™ TTHT e T A ITERTHRS ST

a) T.E. Seeel b) . TR C) ST TS d) o9 ufeg
Italian scientist invented Radio.
a) E.L. Becquerel b) G. Marconi c) John Bared d) Thomas Edison

STERTATA ... = 3174k THT0T € B8 [aehRIel T SHR0T T0Tet ST
a) Gifes™ FTARTEE  b) il C) ot d) Tt

More consumption of in diet is considered to be the chief cause of

heart diseases-

a) Sodium Chloride b) Cholesterol c¢) Calcium d) Minerals

SR TSI STCTE offell o Gal g 3THEA, TR ATl ORI .ovoveevees

a) 3ue b) faore c) e d) ardent
If the length and breadth of a rectangle are doubled, then its perimeter is .........
a) doubled b) tripled c) halved d) none of these

Uenl TR 6 araia 384 fohHl 3R Ted shedl. TR ardid fo= Tehdl Tems shedt 31T’

a) 96 Ty b) 576 Tt ¢) 256 Ty d) 384 foprit
A car travelled 384 km in 6 hours. How far did it travelled in four hours?
a) 96 km b) 576 km c) 256 km d) 384 km

STRCAET TTercisT 9T 15 T[or St THeTer STt RTercsTen TSt UelT 5 707 S a3t foferiel UepvT

112 7707 THesTet B TR FRSTe fohell 70T 3 Tet?

a) 29 b) 39 c) 44 d) 45

Arti got 15 marks less than Shivtej and Shivtej got 5 marks more than Suraj. The
total of marks between the three is 112. So how many marks did Suraj get?

a) 29 b) 39 c) 44 d) 45
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83.

84.

83.

86.

87.

QTATeTIeh! VT SEad 8 = U7 AT STeet?

a) 1324 b) 1432 c) 3142 d) 3214
Which number among the given below can be divided fully by 8?

a) 1324 b) 1432 c) 3142 d) 3214

(600 +80 =2 -10x 8)=?
a) 688 b) 260 ¢) 580 d) 560

QTeITeh! ShIvTdT T & Hger WAl 3 (a5 T S@iet 31e?
a) 12 b) 29 c) 15 d) 97
Which among the below is a composite number as well as odd number?

a) 12 b) 29 c) 15 d) 97

4 THeR ATeirean FaeT 25 At AAfee THUT fohdl qehe erdier?

a) 10 b) 12 c) 16 d) 20

Total how many pieces of 25 cm length each can be obtained from a cloth that is 4
meters long?

a) 10 b) 12 ¢) 16 d) 20

547249 =7 FAcer 4 =2 T [ohATEe e (ol ?

a) 39660 b) 39960 c) 36990 d) 0

In numeral 547249, what is the difference between the local value and face value of
47

a) 39660 b) 39960 c) 36990 d) 0
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88.

89.

90.

91.

92.

3 . : .
41—6€r 39T STYUTehTIel ST hivTe?

a) 4.1875 b) 4.1785 c) 4.1578 d) 4.8751

What is the decimal conversion of fraction 41—36 ?

a) 4.1875 b) 4.1785 c) 4.1578 d) 4.8751

SR 123962* g T 5 7 [aurss 319et, X * =41 S JuTr=ar fehrel fohme foheit?

a) 0 fopar 1 b) 5 fopar 4 ¢) 0 fehar 5 d) 1 fear 2

If 123962* is divisible by 5, then what will be the value of number in place of *?
a)Oorl b) Sor4 c)Oor5 d)1or2

WTeATeT Yeht qoT ST AheTel ST SoTdT?
a) 0.0001 b) 31.37 c) 0.0625 d) 0.5929
Which of the following number is not a perfect square?

2) 0.0001 b) 31.37 ¢) 0.0625 d) 0.5929

HrTET ST FHERt 15 gesr 1997 st et @ T e areiser™ ot ani 35’

a) IEFER b) TeaR ¢) FHAR d) wfem

If Seema was born on Monday, 15™ September 1997, then on what day will her third
birthday fall?

a) Friday b) Thursday c) Wednesday d) Saturday

Ufgea =R oo Hei SRt fondt?
a) 2.5 b) 4 c)5 d) 16
What is the average of the first four odd numbers?

a) 2.5 b) 4 c)5 d) 16
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93.

94.

95.

96.

97.

98.

5§+2%—O.785+3(12—7):?

a) 131.215 b) 22.315 c) 132.315 d) 130.215

0.45 1 9 = AT IR FT ASA?

a) S b) 4.5 c)5.5 d) 0.05
If 0.45 is divided by 9 then answer is.....

a)5 b) 4.5 c)5.5 d) 0.05

T o QIS WTeeTdeht ShivTea TSaTd 3Ted?
a) HENTZ b) sREs C) ST SHITTAT d) sfear
Gypsum reserves are found in which of the following states?

a) Maharashtra b) Jharkhand c) Jammu and Kashmir d) Odisha

GTeiteT Yohl ST &R ShivTedT ORI 3TTeadl?
a) feeraisr b) TUieR D EIDIERS d) TR
In which of the following layers is the ozone layer found?

a) Stratosphere b) Troposphere c) Exosphere d) Ionosphere

............ % TR SY HicsTeiiel TR Tl Teh I 5T 3R

a) foeTe b) =ifTe c) 3T d) feeett
city is a fine example of town planning in modern times.
a) Bhilai b) Chandigadh c) Agra d) Delhi

TETeles*aR I 3T UTE0TRY WICiIeTieh! 1T Shivret?
a) HT D RIEEE C) FHE d) @t
Which among the following rivers has its source in Mahabaleshwar?

a) Krushna b) Godavari c¢) Kaveri d) Tapi
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99.  icaIqX MeaIiier TERY' &R0T HivTeaT T g Hefet?

a) TAYC TS HERTST b) SFUAT IE TERT

C) ST FHTST HENTST d) HeRToT aRw

Which of the following rulers built the 'Radhanagari Dam' in Kolhapur district?
a) Chatrapati Shivaji Mahara b) Chatrapati Shahu Mahara;

c) Chatrapati Sambhaji Maharaj d) Maharani Tarabai

100. @reitetdehl shivTe SfSTes SYsT g A1el?

a) Theted b) ®RTEr C) ITR d) ST
Which of the following is not a Thermal Power Plant?

a) Ekalhare b) Koradi c¢) Chandrapur d) Koyna

101. EITIsh! SHIvT fSehIUT TeT T6 0T SHRETATRN Heid 3Te?

a) R b) Fererer ¢) A d) Hag 7T
Which of the following place is related to oil refinery industries?

a) Dispur b) Chittaranjan c) Nunmati d) Mumbai Hai

102. w=7 oo JE=ATeE Geieds! i 317
a) 7ot b) hicTshIaT c) =% d) =g

1s the head quarter of Central Railway.

a) Pune b) Kolkata c) Chennai d) Mumbai

103. QreficTdeh! ShivTeaT TeTdT fSioalia e 3TRd?
a) qUI-aIUi-{ETE b) IT-TERR-TITE  ¢) FERI-aegi-Tare d) Iof-gu-Tc
Which of the following group of districts has saltpans?

a) Pune-Tane-Raigad b) Thane-Ratnagiri-Raigad
c) Bhandara-Sindhudurga-Raigad d) Thane-Pune-Ratnagiri
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104.

105.

106.

107.

108.

109.

AR TERIeT .o Je TTeT LA (FTST) WMot 3mea?

a) &t b) T ¢) HER d) 3ms
There are manganese mines in in Nagpur district.
a) Redi b) Deulgaon c) Saoner d) Umred

CEEES - R T2l Yo T AR TR0 HREHT 3T ?

a) TR b) WiR C) T d) firerg
Railway coaches are manufactured at near Chennai.
a) Durgapur b) Perambur c) Rourkela d) Bhilai

ST sfehel YRATeTd WA ToTIsh! Shic 3117
a) =tk b) & c) W d) At
Where among the following is headquarters of the World Bank located?

a) New York b) Hague c) Paris d) Washington

SITTeT FalTd o FeTaNTR ShioTeT?
a) ufaftren b) 3tecrifes c) f&st d) sferien

Which is the largest ocean in the world?

a) Pacific b) Atlantic c) Indian d) Antarctica
TRATT G v ST SO et STl ?

a)5 b) 10 c) 15 d) 7

In India, a census is taken very years.

a)5 b) 10 c) 15 d) 7
TTATATRN vvvrereens =T ICARATT HRATHT ST A6 AT SHHieh ATl

a) amT b) =it ¢) diges d) =@

Indian stands first in the production of in the world.

a) Jute b) Coffee c¢) Rice d) Tea
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110.

I11.

112.

113.

114.

............... T IR T Seferiel ¥eX’ WU 3Tl S

a) ShicTehTa b) qerg c) ITE d) &9 AR
City of 1s known as the City of Seven Islands.
a) Kolkata b) Mumbai c¢) Chennai d) Cape Comorin

TERTSIATE 'FRes-H1ERT' &7 3od T WIetetdeh! shiuTeaT Fehre 31?7
a) He 9 DEIERE! ¢) &% ATt d) svég ATy
Neral-Matheran railway route in Maharashtra is of which type?

a) Meter gauge b) Broad gauge c¢) Broad gauge d) Narrow gauge

ST igel AT €ROT (TR &R0T) TeRTTAe! ot fSieaid 3Te?

a) TTuRt b) TR c) Aics WEIINED

In which district of Maharashtra is the first earth fill dam in India (Gangapur dam) is
located?

a) Parbhani b) Aurangabad c) Nanded d) Nasik

TATATR e, & Uk HIETE GERIA S 8a?

a) ey b) st c) qar d) gaot
1s a hybrid type of cotton?
a) Savitri b) Jaya c) Pusa d) Suvarna
GRATT cevveeneee T 3T AIGH! A=A U TS’
Q) AT A TGS b) e o S C) 7 T W d) afme o feder
In India it rains during the months of due to seasonal winds.
a) January to April b) March to June
c) June to September d) August to December
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115, IWTUit MU Felauar UT SUATATe! fohelt a8 o qul ST AT ?
a) 18 b) 35 c) 30 d) 25
For a person to contest elections for the Vice President, what should his age be in
completed years?

a) 18 b) 35 ¢) 30 d) 25

116. Teiler Ueht SHI0TAT X T8 THR T 6 Ihd Al ?

a) fafsras b) SHIF o SRR T

C) Y SCTATARIA T d) HEHES

Which of the following taxes cannot be collected by the state government?

a) Sales tax b) Property tax

c¢) Tax on agricultural products d) Corporation tax
117, TTHIOT GIeAE SRR el FH0 v g ol STl

a) et b) =T FREHRT SR

¢) fieeT ety atfurerh d) TEfeerRr

The kotwal in rural police administration is appointed by

a) District Collector b) Chief Executive Officer

c) District Police Commissioner d) Sub-divisional Magistrate
118. 9RATd gom=a FHergu[ehiet geATeHd STAeRR .. ........ AR 3T

a) Tl b) 7= AU g

C) T AT d) IsHicet e rad

The constitutional responsibility of elections occurring in India belongs to

a) President b) Chief Election Commissioner

c) Chief Justice d) chief Secretary of the State
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119.

120.

G FHEEETet - ....... eIl 3Ted?

a)7 b) 6 c)9 d) 4
There are regions under control of the Union Territory.
a)7 b) 6 c)9 d) 4

EIeT U STTSheal UehT [ATSTSE Shy TTATHED 3Tied. F¥T STTeheall WIetl fSeteal ITRIAT Shcaig—
37T STTGhell YL ShIGT ST THEAT ST ST BEet STIOT S Tt ot gleet.

Choose the correct option to complete the figure series.

K

K| K e 2K

(1) (2) 3) 4)
a) 1 b) 2 ¢)3 d) 4

121. o el ATt qehe STTg TR BIUTRT STl ST STRIghcll Fed 311 T ShHieh e,

122.

Choose from options the figure which has a figure formed by joining the parts given

in question figure.

TIAITHAT ERASIE Rl
T4 SIE
M) @ 3 @)
a) 1 b) 2 0)3 d) 4
QAT TEATHTETT MeSeiedT ST AU Tt G S
1,8,7?,27,9, 64
a) 4 b) 6 ¢)9 d) 16

Choose the correct option at the place of question mark.
1,8,7,27,9, 64
a) 4 b) 6 c)9 d) 16
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123, geAtamgTea ST A ugig e
AZ:CX::BY:?
a) EV b) DW c) WD d) DV
Choose the correct option at the place of question mark.
AZ:CX::BY:?
a) EV b) DW c) WD d) DV

124, o5 geeh 3.
a) g b) =it C) TSR d) ST
Find odd man out.
Dwarka, Kashi, Rameshwar, Jagannathpuri

a) Dwarka b) Kashi c) Rameshwar d) Jagannathpuri

125. @reiier shATdIel Meetetl T fofar.
232,343,454, .........
a) 545 b) 565 c) 575 d) 546
Choose the missing number to complete the series.
232,343,454, .........
a) 545 b) 565 c) 575 d) 546

126. TH TooamTE TH oRN Soel FHe THAT AT WS Hffes =T Kol TIR B,

Tooared urae feaett 192 & gidt X ufgean et forelt shoes gidi?
a) 6 b) 12 c) 24 d) 48

In a pond on a particular day, there is certain number of lotuses. The next day, the
number of lotuses bloomed is double. On the fifth day, the number of lotuses is 192,

so what i1s the number of lotuses on the first day?

a) 6 b) 12 c) 24 d) 48
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127. went Gichdter am8id RED &1 91sg SFE a1 fetfgetr strat @) = “eid BLUE &7 97s8 s fetera.

a) CLVF b) CMVF c) ALDT d) ADLT

In a code language RED is written as SFE, then in that same language, how will we
write BLUE as?

a) CLVF b) CMVF c) ALDT d) ADLT

128. weh 59 4 g 10 e geret 3T, 11l g 6 e ¢ 3T, Aeal St 1t 4

129.

130.

Ao 4 et WogsR STar ok Yeiettshl Shivrd [T aRieR 3Te.

a) OTeh 919 4 it geet b) Tt 9 e AT T9 WUEER el

¢) Her 12 e iame R d) Tt 4 e FieTe AR

My bus will leave at 10 minutes past 4. My watch is fast by 6 minutes. According to
my watch I reach the stand at 4 minutes past 4, so which of the following statement
is true :

a) I missed my bus by 4 minutes

b) I reached the stand as my bus was leaving

c) I will have to wait for 12 minutes

d) I will have to wait for four minutes

T 1o e sRuaTane! Uedieht 20 fett JoTot Uehot fehdt et emTier?
a) 200 b) 50 ¢) 500 d) 2000

How many vials of 20 ml each will be needed to fill 1 liter of medicine?

a) 200 b) 50 ¢) 500 d) 2000
oo ST T forETTd 3TEhelt 3.

Find the odd figure.

1) % 2) | #—<<€0 3) / g)|0—<<

a) 1 b) 2 0)3 d) 4
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131.

132.

133.

134.

a (2 oo (2 a < r)
T9T STHATAR ST RIS AT ITATRE I HIUTT FITITT 3T
Find out the mirror image for the question figure from the answer figures.

TYAHATRA SRR
(1) (2) 3 4)
a) 1 b) 2 c)3 d) 4

QA U9 U9 STl oot TR Uiaiteh! ShivTedT STTehdid ofaeiel 3T1E ot U SITe.
Select the answer figure in which the question figure is hidden.

TYATRAL FeRSATHAT
(1) (2) (3) (4)
a) 1 b) 2 ¢) 3 d) 4

QTeAle? IR SATHcadeh! i STHeal FIeATTRI TehR TRET 3T 37T Uh el SBT3

STG3! STHGH 3TTShalt 3T,
Following figures are similar in somewhat manner select the odd figure.

©

o)

Y

S

(D
a) 1

(2)
b) 2

3)

(4)

c)3

d) 4

a (2 [Nl ald a (a <
9 HTHATHAR AT SR AT SSTAThE T SHIUTeAT JITATd 3118 o I,
Find out the mirror image for the question figure from the answer figures.

SRS SERIATF
) < (>—)
o) || |G| @& | &
(1) ) €) (4)
a) 1 b) 2 c)3 d) 4




N

135. fgear 73; Hos S T

1 2
a) 9 b) 11 c) 1 d) 1=
) ) ) 1 ) 1

What is the average of the first nine root numbers?

1 2
9 b) 11 1= d) 115
a) ) ©) 113 ) 15

136. T gMER 40 U7 36 U= BTUICT [ foreh B3 faehd =T 1% g2 3at o) 2ehel T = ...
a) 4 b) 10 c) 40 d) 30
A shopkeeper purchases 40 pens at MRP of 36 pens and while selling gives 1%
discount then what will be his profit?

a) 4 b) 10 ¢) 40 d) 30

137. uvq STEhdle UToaTdtet Udfere TArame Haer.

Find the water reflection of the question figure from the options.

PEESIC IEIMHAT

T Y

7777777777777 (D (2) (3) 4
a) 1 b) 2 c)3 d) 4

138. @it T dF ¥1e% Sot 3T, € VIR SREavaTdIe! iUt Ul S AT 3TE o qarard
3z : g, Toremef, Ao
Which of the following ven diagram perfectly shows the given three words :

Boys, Students, Men
(1) (2) 3) (4)

mim

a) 1 b)2 ¢)3 d) 4
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139.

140.

141.

142.

143.

9 FeeT=a S JUTRT AT 91T 3T,
RLIE A I )
a) T b) FomTES C) TerTeT d) 7=

ETetieTieh! fogGTd g2 3.
a) T b) = c) =g d) sieer

Find odd man out.

a) Cow b) Dog c) Buffalo d) Fox

TRITAT GIGAT AT HeAreN GRreat Uerel T i 3TcA?

a) h b) rastt C) 3T d) afeoit

What will be the relation of Suresh's wife with Suresh's mother-in-law's daughter-in-
law's daughter?

a) Aunt b) Maternal Aunt c¢) Paternal Aunt  d) Sister-in-law

SR T 3T UeTT HIS 319, WS ¢ fSool Uafl HiS 319, Kool HeRueT Wi 3T¥e oX a1 ¥a

ST HaTd HiS 916X v’

a) fewet b) me c) d) 7sma

If Mathura is bigger than Agra, Madras is bigger than Delhi, Delhi is bigger than
Mathura then which of these cities is the largest among all?

a) Delhi b) Mathura c) Agra d) Madras

SHA Selehgd 11 =T SHHThER IHT 3. TR T I THUT Tl Tohell 3T ?

a) 22 b) 21 c) 23 d) 25

Kapil is standing at 1" place from both sides, so how many total people are there in
that line?

a) 22 b) 21 ¢) 23 d) 25
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144.

145.

146.

147.

148.

(2 A
GTeAleT Uehl ATT3T Teh hIuTdT?

a) HEl DESLN ¢) et d) &mr

UYTeFE AT ST ShivTaT o107 T T5ct?
A TR Hg : ?
a) e b) g ¢) fa=m d) ffeeror

ST eBTeY Seiedll shH feffeearar 10 =7 STeRa 6 o 78R FHeh 0T’

a)J b)K c)Q d) I

If English alphabets are written in reverse then which alphabet comes 6" after the
10" alphabet?

a)l b) K c)Q d) I

MraTes 100 =31 =g TTeTeR STal ) ST & Hedish TraiieR fo=am shufehuae! el Saedmd

T Tohelt Fet SRieR =I7el AT ?

a) 4500 b) 5000 c) 5050 d) 5500

Gopal is climbing the fort and if he places flowers on each step, number of the
flowers correspond with the number of each step. So how many flowers will he have
to carry?

2) 4500 b) 5000 ¢) 5050 d) 5500

(2} o (AW aN
QST 3TMehdIl Tohdll [hI0T T8’
How many triangles are there in the adjoining figure?

A E D H
B F C G
a) 8 b) 11 c) 26 d) 30
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149.

150.

19 5ot 2007 &1 TEaR it 7R 2007 =41 31 fedeRet Shiorar aR ghar?
a) Jaar b) TaR C) HTTaR d) sErar
19" July 2007 was a Thursday, so what day was it on 31% December 2007?

a) Sunday b) Monday c¢) Tuesday d) Wednesday
S e fop o, et st et ame

a) 10475 b) 15200 c) 16720 d) 21200
India has a terrestrial boundary of km.

a) 10475 b) 15200 c) 16720 d) 21200

Space for rough work
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